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x′′ = f(x),

x′(0) = 0, x′(1) = 0,
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x′ = y,

y′ = f(x)
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1) F (p1) < F (p3) < F (p5), 2) F (p5) < F (p3) < F (p1),

3) F (p3) < F (p1) < F (p5), 4) F (p3) < F (p5) < F (p1).
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n2π2 < |fx(p2)| < (n + 1)2π2,
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m2π2 < |fx(p4)| < (m + 1)2π2
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1) F (p1) < F (p5) < F (p3), 2) F (p5) < F (p1) < F (p3).
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∫ x1(x0)
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ds
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F (s) − F (x0)
,
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F3 =
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f(s)ds
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p1 < x∗

0 < x∗∗

0 < p2.
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T (z) = min{T (x0), x∗

0 < x0 < x∗∗
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x(0) = x0, x′(0) = 0, x0 ∈ (x∗

0; z).
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x′′ = 6x5 + 2.5x4 − 76x3 − 7.5x2 + 148x + 2,

x′(0) = x′(1) = 0.
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F (x) = x6 + 0.5x5 − 19x4 − 2.5x3 + 74x2 + 2x − 56
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x′′ = x7−0.5x6−13.5x5+6.5x4+42.5x3−18x2 − 18x,

x′(0) = 0, x′(1) = 0.
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QÀ? � YO6 ? � =A9 @ � XAX
QÀ? � XV7 ? � =AP @ � X(=
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f(x) = x7 − 0.5x6 − 13.5x5 + 6.5x4 + 42.5x3 − 18x2 − 18x

> §	­í­Ý¬:º	¬t= ­Ý¼ ¿ »�½
¬%QA¬:©	</­ �-� ©ª¬A­Ý»#¬$: ® ¼ º/¬ ® C�< ² «�¼ ¿ ¬t=�­F¼B<�=#§O½#­?G�­ ® ¬ ¿ > §/­Ì¬mu�§�: ® ½BG�@A</¸�©
:8©ª¼ ® ¼B:A§O½1»5<	¼B= ® ­a<�@ ®	> ¬ ® G�»#¬ �F­ª§	«�«�½ ¬��S§ ® ®	> ¬ »5<	¼B= ® ­

p1 = −3, p3 = −0.5, p5 = 1,

p7 = 3
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p2 = −2,

p4 = 0, p6 = 2.
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F (x) =
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x4 − 6x3 − 9x2
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fx(p2) = −180, fx(p4) = −18, fx(p6) = −100
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42 π2 < 180 < 52 π2, 12 π2 < 18 < 22 π2, 32 π2 < 100 < 42 π2
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